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M.M.: 80
General Instructions: 
1. All Questions are compulsory.

2. The question paper consists of thirty questions divided into 4 sections A, B, C and D. Section A comprises of ten questions of 01 mark each, section B comprises of five questions of 02 marks each, section C comprises of ten questions of 03 marks each and section D comprises of five questions of  06 marks each.
3. All questions in section A are to be answered in one word, one sentence or as per the exact requirement of the question.

4. There is no overall choice. However, internal choice has been provided in one question of 02 marks each, three questions of three marks each and two questions of 06 marks each. You have to attempt only one of the alternatives in all such questions.

5. In question on construction, drawings should be neat and exactly as per the given measurements.
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SECTION-A
1. Find the quadratic equation whose one real root is 
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2. Prove that 
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3. The 17th terms of an A.P. exceeds its 10th term by 7. Find the common difference.

4. In the figure 1 find OA if
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5. A box contains 5 red marbles, 8 white marbles and 4 green marbles. One marble is taken out of the box at random. What is the probability that variable taken out will be (i) Red ? (ii) White?

6. The mean of 5 Nos. is 27. If one is excluded, their mean is 25. Find the excluded Number?
7. Given that HCF (306, 657) = 9, find LCM (306, 657).
8. Is 
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 rational or irrational?

9. From a point Q, the length of the tangent to a circle is 24 cm and the distance Q from the centre is 25 cm. What is the radius of the circle?

10. A wire is looped in the form of a circle of radius 21 cm. It is re-bent into a square. Determine length of side of the square.
SECTION-B
11. The diagonal BD of a parallelogram ABCD intersects the line segment AE at the point F, where E is any point on side BC, prove that   DF x EF = FB x FA.

12. Cards marked with numbers 2 to 101 are placed in a box and mixed thoroughly. One card is drawn from this box. Find the probability that the number on the card is  (i) an even number.  (ii) a number less than 14 (iii) a number which is perfect square (iv) a number less than 20                                Or                                                                     What is the probability of having 53 Thursdays in a:     (a) non-leap year    (b) leap year.

13. Solve by the method of cross multiplication: 
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14. Show that points A (1, 0), B (5, 3), C (2, 7) and D (-2, 4) are the vertices of a parallelogram 

15. Evaluate: 
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SECTION-C
16. Use Euclid’s Division Algorithm to show that the squares of the following numbers are either of the form 3m or 3m +1. (a) 151 (b) 253  (c) 707

17. A two digit number is four times the sum of its digits and twice the product of the digits. Find the number.

18. Prove that 
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                                                Or                                                    If 
[image: image10.wmf]c

b

a

=

+

q

q

2

2

cos

sin

, prove that
[image: image11.wmf]c

b

a

c

-

-

=

q

2

cot


19. If A and B are (1, 4) and (5, 2) respectively. Find the co-ordinates of P when 
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20. Through the vertex D of a parallelogram ABCD a line is drawn to intersect the sides AB and CB produced at E and F respectively. Prove that 
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21. If 
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 are the zeros of the quadratic polynomial
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, then evaluate: 
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22. If m times the mth term of an A.P. is equal to n times its nth term, show that the (m + n)th term of the A.P. is zero. [m
[image: image17.wmf]¹

n] 











Or                     Which term of the sequence 20,
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 is the first negative term?

23. If P and Q are two points whose co-ordinates are 
[image: image19.wmf](

)

÷

ø

ö

ç

è

æ

-

t

a

t

a

and

at

at

2

2

,

2

2

respectively and S is the point  (a, 0). Show that 
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24. Draw a circle of radius 6 cm. From a point 10 cm away from its centre, construct the pair of tangents to the circle and measure their lengths.

25. In figure 38, ABC is a right triangle, 
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, AB = 21 cm and AC = 28 cm. Semicircles are described on AB, BC and AC as diameters. Find the area of the shaded region.



   Or
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In figure 33, the boundary of the shaded region in the given diagram consists of four semicircular arcs, the smallest two being equal. If the diameter of the largest is 14 cm and of the smallest is 3.5 cm, calculate  (i) the length of the boundary    (ii) the area of the shaded region..

SECTION-D
26.  The weekly observations on cost of living index in a certain city for the year 2000-2001 are given below. Compute the mean weekly cost of living index.

	Cost of living index
	140-150
	150-160
	160-170
	170-180
	180-190
	190-200
	Total

	No. of weeks
	5
	10
	20
	9
	6
	2
	52


27. The ratio of the areas of similar triangles is equal to the ratio of the squares on their corresponding sides.     Using above theorem prove that if area of two similar triangle are equal prove that they are congruent.

28. As observed from the top of a 150 m tall light house, the angles of depression of two ships approaching it are
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. If one ship is directly behind the other, find the distance between the two ships.

Or                                                       The angles of elevation of the top of a rock from the top and foot of a 100 m high tower are, respectively
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. Find the height of rock..

29. The interior of a building is in the form of a cylinder of base radius 12 m and height 3.5 m, surmounted by a cone of equal base and slant height 12.5 m. Find the internal curved surface area and the capacity of the building.
    Or                                                  A tent of height 8.25 m is in the form of a right circular cylinder with diameter of base 30 m and height 5.5 m surmounted by a right circular cone of the same base. Find the cost of the canvas of the tent at the rate of Rs. 45 per 
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30. Find the area of the region bounded by the following lines and x-axis: 4x -3y +4 =0,4x+3y-20 =0
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